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(1) You are given the circuit of Figure 1.
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Figure 1: Circuit forrproblem 1.

(a) Find the power supplied by the 30 V source.
(b) Find the power absorbed by the 8 Q resistor.
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(2) You are given the circuit of Figure 2. Solve for .Req, resistance looking into terminals a-b.
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Figure 2: Circuit for problem 2.
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(3) You are given the circuit of Figure 3. Use any method (your choice) to find V5.
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(4) You are given the circuit of Figure 4. Use nodal analysis to find the current I as indicated.
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(5 Youare given the circuit of Figure 5. Use mesh analysis to solve for I; and L. - .
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